QUANTATIVE APTITUDE QUESTION PAPER

Q1. At a party, the number of girls is half the number of boys. After an hour, five boys leave the
party and three girls join the party and the number of boys and girls are now equal. How many
people were present at the party an hour before?

(a) 16
(b) 8
(c) 24

(d) 22
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(a) 16
(b) 8
(c) 24

(d) 22

Q2. If AU = 21 and EGG = 245, then how will you code BAKE?
(a) 19

(b) 75

(c) 110

(d) 155

g AU = 21 3R EGG = 245 Y, Tl 3T BAKE B H DITSd B2
(a) 19

(b) 75

(c) 110

(d) 155



Q3. The difference between the compound interest and simple interest on Rs. x at 8.5% per annum
for 2 years is Rs. 28.90. The value of x is:

(a) 3500
(b) 3800
(c) 4000

(d) 4500

2 T & o 8.5% U T Bt R T Ufd T x R Iehgfs STt SR AR TS & o9 BT 3R
28.90%. Bl x BIAM &-

(a) 3500
(b) 3800
(c) 4000

(d) 4500

Q4.l1fa:b=>5:3,then (8a—5b): (8a+5b)is equal to:
(@)3:13

(b)2:5

()3:11

(d)5:11

gfda:b=5:3, (8a—5b): (8a+ 5b) ISR &
(a)3:13
(b)2:5
(c)3:11

(d)5:11



Q5. The average marks of 45 students was found to be 66. If the marks of two students were
incorrectly entered as 28 and 64 instead of 82 and 46 respectively, then what is the correct average?

(a) 67.2
(b) 66.8
(c) 66.4

(d) 66.6

45 BTHT & 3G 37 66 8 | TS TTAd T <l DT b 3ih HHT: 82 3R 46 B VITT TR 28 37X 28
3ifehd R AU SA 1 64 & U N gl fopaT 7T T, Y el Sy T 82

(a) 67.2
(b) 66.8
(c) 66.4

(d) 66.6

Q6. The price of sugar is increased by 22%. A person wants to increase his expenditure by 12% only.
By what percent should he decrease his consumption, nearest to one decimal place?

(a) 10%
(b) 7.8%
(c) 8.2%

(d) 8.6%
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(a) 10%
(b) 7.8%
(c) 8.2%
(d) 8.6%

Q7. An article is sold for Rs. 657.90 after successive discounts of 15% and 10%. What is the marked
price of the article?



(a) Rs. 920
(b) Rs. 860
(c) Rs. 900

(d) Rs. 880

T G T & foTT ST SITAT B 1 657.90 15% 3R 10% B HiHh T & d1¢ | 9% BT e Yoo T
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(a) 920 X.
(b) 860 Y.
(c) 900 .

(d) 880X

Q8. The radii of two circular faces of the frustum of a cone of height 21 cm are 3 cm and 2 cm
respectively. What is the volume of the frustum of the cone in cm3 (M =22/7) ?

(a) 154
(b) 286
(c) 345

(d) 418

21 Yt TS I T P & f59% & &l JAIHR HaAd! B! HAoard HHRT: 3 I 3R 2 It &1 It
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(a) 154

(b) 286

(c) 345

(d) 418

Q9. The value of:
2.8+(5.2+13x2)-6x3+8+2

(a) 6.45



(b) 4.55
(c) 8.45

(d) 10.55

28+(5.2+13x2)-6x3+8+2BIAMG:
(a) 6.45
(b) 4.55
(c) 8.45

(d) 10.55

Q10. The value of sec?28° — cot?62° + sin?60° + cosec?30° is equal to:
(a)7/2

(b) 3

(c) 19/4

(d) 23/4

sec?28° — cot?62° + sin?60° + cosec?30° hT HIH Gﬂ'l_@l'\’%:
(a) 7/2

(b) 3

(c) 19/4

(d) 23/4

Q11. Two articles are sold for Rs. 10,005 each. On one, the seller gains 15% and on the other, he
loses 13%. What is his overall gain or loss percent, correct to two decimal places?

(a) 1.42% gain
(b) 1.42% loss
(c) 0.94% loss

(d) 0.94% gain



3 ARG U0 H 9 9 € 110,005 TS | Teh TR okl &b 15% T ATH Il § 3R GOR TR 39 13%
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(a) 1.42% Y
(b) 1.42% BTU9
(c) 0.94% &9

(d) 0.94% <Y

Q12.In A ABC, AD is a median and P is a point on AD such that AP : PD = 3 : 4. Then ar(AAPB) :
ar(AABC) is equal to:

(a)2:7
(b)3:4
(c)3:7

(d)3:14

A ABCH, AD U% AT § 3R P, AD TR U g ST UGR 8 fH AP : PD =3 : 4 81 A ar(aAPB) :
ar(AABC) SRTSR 8:

(da)2:7

(b)3:4

(c)3:7

(d)3:14

Qi3.Ifa+b+c=8andab+bc+ca=12, thena®+ b3+ c®-3abc is equal to:
(a) 192

(b) 224

(c) 144

(d) 400

aﬁa+b+c=83ﬁ?ab+bc+ca=12,?ﬁa3+b3+c3—3ach%:



(a) 192
(b) 224
(c) 144

(d) 400

Q14. Chords AB and CD of a circle, when produced, meet at a point P outside the circle. If AB =6 cm,
CD=3cmand PD=5cm, then PB is equal to:

(a) 6cm
(b) 6.25 cm
(c)5cm
(d) 4 cm

Ans.(d)

TS g P oilaTd AB 3R D, FGTT M WR, I & §Tex g p WR fiyawcdt €1 afe aB = 6 Y, cD = 3
T STR PD = 5 T, T PB SRTSR &:

(a) 6cm
(b) 6.25 cm
(c)5cm

(d) 4 cm

Q15. A is 40% more efficient than B and C is 20% less efficient than B. Working together, they can
finish a task in 15 days. In how many days, will B alone complete 75% of the task?

(a) 36
(b) 48
(c) 32

(d) 44

A, B 40% 31 HRIA § 3R C, B Y 20% HH A ¢ | U 1Y BT Hd gY, I UH B &l 15
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(a) 36
(b) 48
(c) 32

(d) 44

Q16. If tan 46 = cot(26 + 30°) , then 8 is equal to:
(a) 15°
(b) 10°
(c) 20°

(d) 25°

TfS tan 46 = cot(26 + 30°) , A 6 SRIR @:
(a) 15°
(b) 10°
(c) 20°

(d) 25°

Qi17.I1fa+b=5andab =3, then (a3 + b?) is equal to:
(a) 70
(b) 75
(c) 80

(d) 65

T a+b=53MRab=3,dl(a%+ b’ RIR &:
(a) 70
(b) 75

(c) 80



(d) 65

Q18. What is the least value of x such that 517x324 is divisible by 12?
(a) 3
(b) 1
(c)o

(d) 2

x T gAdH A 1 | fb 517x324 12 A fqursa 82
(a) 3
(b) 1
(c)0

(d) 2

Q19. A train without stoppage travels with an average speed of 65 km/h and with stoppage, it
travels with an average speed of 52 km/h. For how many minutes does the train stop on an average
per hour?

(a) 13
(b) 15
(c)12

(d) 14

a1 %% U 2 65 feil/eer Bt 3id i T Iac § 3R 3819 & 1Y, I8 52 feil et &t sfra
T B T el & | ¢ vl " S foram e st 82

(a) 13
(b) 15
(c)12

(d) 14



Q20. Which number will replace the question mark (?) in the following series?
89, 90, 82, 109, 45?

(a) -80

(b) 125

(c) 170

(d) 109

frafaRad sikaan & uyaras fawg (?) & RIF W S 9 T8 3T
89, 90, 82, 109, 457

(a) -80

(b) 125

(c) 170

(d) 109

Q21. Anu spends 90% of her income. If her expenditure increases by 25% and savings increase by
30%, then by what percent does her salary increase?

(a) 25.5%
(b) 24%
(c) 22.5%

(d) 20%

3 3T ST BT 90% W B! ¢ | TS IUHT T 25% ¢ ST § 3R §Id 30% ¢ Sl &, a
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(a) 25.5%
(b) 24%
(c) 22.5%

(d) 20%



Q22. A circle is inscribed in a quadrilateral ABCD, touching sides AB, BCCD and DA atP, Q,Rand S,
respectively. If AS= 8cm, BC=11cm, and CR=5cm, then the length AB is equal to:

(a) 12 cm
(b) 13 cm
(c)16cm

(d) 14 cm

TgYS ABCD T T I T §31T &, ST YST3Tf AB, BC CD 31R DA B HHTT: P, Q, R 3R s TR TWigf
HRA1 51 A As = 8 T, BC = 11 JfY, 3R CR = 5 Y, T GaTS AB SRISR &

(a) 12 cm
(b) 13 cm
(c)16cm

(d) 14 cm

Q23. A and B, working together, can complete a work in 16day, C and A together can complete it in
32 days, B and C together can compete it in 24 days. They worked together for 12 days. In how many
days will C alone complete the remaining work?

(a) 40
(b) 36
(c) 45

(d) 32

A 3R B TR U6 BRI Dl 16 R A R IR TP &, € AR A PaHR s 32 RA T R AR Tdha €,
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(a) 40

(b) 36



(c) 45

(d) 32

Q24. The total number of students in class A and B is 96. The number of students in A is 40% more
than that in B. the average weight (in kg) of the students in B is 50% more that that of the students
in A. If the average weight of all the students in A and B taken together is 58 kg, then what is the
average weight of the students in B?

(a) 72 kg
(b) 60 kg
(c) 48 kg
(d) 66 kg

HeT A 3R B H B & ot TS 96 8 | A T BT D1 TSAT B Bt AT H 40% HTH &1 8 BT B
3Td aoT ({33 H) el & BT D1 ga1 B 50% 1P g1 A. A A 3R B & T+t faenfefat &t
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(a) 72 kg
(b) 60 kg
(c) 48 kg

(d) 66 kg

Q25. In an examination, the success to failure ratio was 5: 2. Had the number of failures been 14
more, then the success to failure ratio would have been 9: 5. The total number of candidates who
appeared for the examination was:

(a) 210
(b) 196
(c) 126

(d) 203



TP URIeT B AT 3R SAerdl BT SUTd 5:2 AT| Afe il 81 arell &t Tt 14 31fiies g,
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(a) 210
(b) 196
(c) 126

(d) 203



